HWI1 (i) When an ideal gas undergoes an isothermal process, AU = 0 and AH = 0.
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(ii) q = 0 for an adiabatic process.
To determine AU and AH, T, needs to be calculated.
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Now the rest of the quantities can be calculated:
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(iii) When an ideal gas undergoes an isothermal process, AU =0and AH =0.

w=—Py (V, = V)

V) and V, can be determined using the ideal gas law:
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(iv) ¢ = 0 for an adiabatic process.

To determine AU and AH, T, needs to be calculated. Using the same procedure as
(ii) above
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Now the rest of the quantities can be calculated:
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